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Tips! 2×2×2の法則で計画的に復習して下さい。二日後、2週間後、2カ月後 

 
P1V-Dual Method (Pre1st Vocabulary) 

Lesson14  ambiguous 
 

 
 

 

 
 

TRNGA:  彼
かれ

のあいまいな答え
こたえ

のせいで、誰
だれ

も彼
かれ

が本当
ほんとう

は何
なに

が欲
ほ

しいのかわからない。 

TGA: Because of his ambiguous answers, no one knows what he really wants. 
① complaint  ②  inquiry 

 

 

 

TGB: Because of his ambiguous answers, no one knows what he really wants. 

① asserts  ②expects 
 
 

 
TRNGC: 1.Let the student make a sentence using this vocabulary. 2.Type the sentence the student made into  

the chat box. 3.Please let the student memorize the sentence and then close their eyes and say it once more. 
 
 

 
 
Japanese section  

ambiguous あいまいな、不明瞭
ふめいりょう

な 
 

Try! Make a sentence out of scrambled words below.単語
たんご

を並
なら

べ替
か

えて正
ただ

しい文 章
ぶんしょう

を作
つく

りましょう 

 

★(wants, ambiguous, answers, knows, because of, really, what, his, no one, he) 
 
 
 

TRNGA: 彼
かれ

のあいまいな答
こた

えのせいで、誰
だれ

も彼
かれ

が本当
ほんとう

は何
なに

が欲
ほ

しいのかわからない。 

① 苦情
くじょう

 ②問い合
と い あ

わせ 

 

 

TRNGB: 彼
かれ

のあいまいな答
こた

えのせいで、誰
だれ

も彼
かれ

が本当
ほんとう

は何
なに

が欲
ほ

しいのかわからない。 

① 主張
しゅちょう

したい ②期待
きたい

したい 

 

 

 
 


